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HEYHNLAAT
=N
g AMEEY WA= &)
8- 2H - ZE-GS(BH) - HRAY - BYS e 2
OAMINE (Rl )23 2g4+2 7,200,000 7,200
ORMHNE(H=8Z) ns Al 1,000, 000& 1,000
03 HAt2HHI 5,600 5,600 0
ORMME(HIY) E23(2E3) Nz
2,400,000& 2,400
OAlLZ - 2, 22012 AWHNE(HIAFH) U
3,200,000 3,200
202 o4 Hl 4,000 4,000 0
01 =2 LHO HI 4,000 4,000 0
OnHg=z 8Z3YE & A& gs833 ot
4,000,000 4,000
203 Y =&l 2,000 2,000 0
03 AlZ =X 2| 2,000 2,000 0
OAMINE HRFA 2,000, 000& 2,000
303 T4 12,000 8,000 4,000
01 Z&2 12,000 8,000 4,000
ONIYUT LLTL BH 12,000,0008 12,000
HE 2 FZH 18,840 18,840 0
=2234(s40) 18,840 18,840 0
FA2EH 18,840 18,840 0
201 LBt FHl 10,080 10,080 0
01 At 2teldl 10,080 10,080 0
FN2E =&l 7,016,000& 7,016
OJI2gdR+8 =&l 3,064,000 3,064
202 (4 Bl 5,760 5,760 0
01 =2 LHO HI 5,760 5,760 0
OJI2gR=& 0l 5,760,000 5,760
203 Y R =&l 3,000 3,000 0
04 FN2ESER=EH| 3,000 3,000 0
OFRANASSERFAH| 250,000& x12& 3,000




